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<Topic#2: System parameters>
<Way forward>:
Issue 2-1: Maximum transmission bandwidth for 3MHz channel bandwidth
Agreement: 
· Maximum transmission bandwidth for 3 MHz channel bandwidth is 15PRBs

Issue 2-2: Minimum guard band for 3MHz channel bandwidth
Agreement: 
· Minimum guard band for 3MHz channel bandwidth is 142.5 kHz.

Issue 2-3: Channel spacing with 3MHz channel bandwidth
Agreement: 
· Reuse existing channel spacing formula for 3MHz channel bandwidth.
· FFS for CA.

Issue 2-4: Channel raster for 3MHz channel bandwidth
Agreement: 
· Reuse existing 100kHz channel raster for 3MHz channel bandwidth.

Issue 2-5: If finer synch raster for the 3MHz and/or 5MHz channel bandwidth is feasible
· Option 1: Finer synch raster is feasible for 3MHz
· Option 2: Reuse current synch raster design for 5MHz
· Option 3: For 5 MHz channel bandwidth, no need to define a generic new synchronization raster as the use case is limited to lower edge of n100, unpunctured SSB will be assumed and at most one new synchronization raster point will be needed.
Agreement: 
· Finer synch raster is feasible for 3MHz
· FFS on Option 2 and 3

Issue 2-6: Operation of legacy NR devices
· Option 1: Operation of legacy NR devices should not be degraded by 3 MHz channel bandwidth deployment in dedicated spectrum
· Option 2: 3 MHz channel bandwidth will be deployed in dedicated spectrum where legacy NR devices (devices not supporting 3 MHz channel bandwidth) are not expected to operate
Agreement: 
· Send LS to RAN to clarify the legacy issue and the features that should be supported for 3MHz for <5MHz WI.

Issue 2-7: Finer synchronization raster for 3 MHz channel bandwidth
· Option 1: 100 kHz synch raster, same as channel raster
· Option 2: 600 kHz + N * 1200 kHz + M * 50 kHz, N ϵ {1:2499}, M ϵ {1,3,5} plus 120 kHz + N * 1200 kHz + M * 50 kHz, N ϵ {1:2499}, M ϵ {1,3,5}
· Option 3: 120 kHz + N * 600 kHz + M * 50 kHz, N ϵ {2:4999}, M ϵ {1,3,5}
· Option 4: N * 600 kHz + M * 50 kHz, N ϵ {1:4998}, M ϵ {1,3,5}
· Option 5: N * 1200 kHz + M * 50 kHz, N ϵ {1:2499}, M ϵ {1,3,5,7,9,11}
Agreement: 
· FFS

Issue 2-8: Narrowband operation with 5 MHz RF channel bandwidth in n100
· Option 1: Use GSCN 2303 where channel centered at 922.1 MHz results in SSB aligning with lowest 20 RB of the 5 MHz channel.
· Option 2: Specify one new sync raster point 200 kHz below GSCN 2303, allowing use of 5 MHz channel centered at 921.9 MHz.
Agreement: 
· FFS

